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Jor the questions

1. w5 Tesh IR Shisa/oe fm enpiz Tew
forn - " 1x8=8

Choose the correct answer/Answer the
following questions :

(a) wRET T O 2
The primary problem of economics is
(i) TR TS 3%

the efficient allocation of resources
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(2)

(i) SoR e
identification of wants
(iij) >ifds Sor SRR ST

greatest possible satisfaction of
wants

(iv) TRENTOR S
problem of scarcity

(b) BA RIS @ SHERS EHE T

The production possibility curve
involves the combination of

fi) <1 TR SF G5 Bom

one commodity and one factor
(&) 1 ST

two commodities
(i) B R W 1 Soimm

two commodities and two factors
(iv) 1 Soimm

two factors

(c) Wﬁﬂ&mmww‘wmwﬁm
Rl prets wier R aetrets o |

Draw a demand curve whose elasticity

of demand is greater than zero but
less than one.

P23/243 ( Continued )

(3)

(d) I oiwR fofe Rfsmrre e T =,
(o3 TIRY T

If the cross-elasticity of demand is less
than zero, then the goods are

) R
complementary

(i) ofSem
substitute

(iii) SPTifFe
non-related

(iv) 8] <18 =W
None of the above

o) FTI® @Y RAH ___3 F51% wfidve |

The indifference curve approach is
associated with

(i) e
Marshall
(i) e
Pigou
(i) R
Hicks
(iv) %
Keynes
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(4) (5)

(%% W Frew & @0 (b) IS TR RERFTR

What do you mean by real cost? Determinants of individual dgmand
(0) TR TS e ey T (c) WD AfSTTe
In monopoly market, the number of Budget constraints
buyers is
. (d) 93 AfSBFE ST SRE
(i) <= | "
Equilibrium condition of a firm
one
@) & (e) TAMFR TeoRIETel
two Productivity of an input
(i) XA
few o SPPTRA Bes fora (2ifeBt 500 e foswe) -
fiv) P Answer the following questions (within 500 words
large each) :
(h) TS SRR i fogy 3. (a) LR R wdfS S ok ome 2wt fee
Define derived demand. RER Riea domeEmz I 401 5+6=11
Why should people study economics?
2. w© R R @ wRin G Explain different types of economic
(afSchr 150 g m) : A 4x4=16 system.
Write short notes on an fo)
y four of the f : oq%3r /Or
(within 150 words each) : ¢ following
@) IHIM SR = ez R o iR
(@) mﬁﬁﬁswﬂ%@mﬁqaﬁw @i wER Rits sz tre fer
General features of economic model [ AN 2+9=11
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4. (a)

(b)

5. (a9
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(6)

What are the main goals of micro-
economics? Explain various types of

microeconomic analysis with suitable
diagram.

RN ST, W Ridwere ue
e Rfemerre RaIH1 I 7911 Figen
YA NS @FAF W, I FA1 9+3=12

Explain the concepts of price elasticity,
income elasticity and cross-elasticity
of demand. Describe their uses in
economics.

At /Or

IS v PP AF W o S
e e oiRm @ R faa® =
oifdn ¥ o1 Ifeew Sy w91 3+7+42=10
Distinguish between individual and
market demand schedule. Why does

demand curve slope downward? Write
two exceptions of law of demand.

ﬁ«wmﬁs?ﬁazwmﬁmhﬁ?mﬁ
foerr I F41 2+49=11

What is indifference curve? Explain

various properties of indifference curve
with diagram.

( Continued )

(b)

6. (a)

(b)
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(7)

%41 /Or

oar R wF afoes Reres. s fan)
TeoRT 7 uF e TR (Fgo W RAe
@ =, T 3+8=11

Define income effect and substitution
effect. Explain the income effect in case
of normal good and inferior good.

e fegfer k7 e oo e
Tfegfier AT 731 Rty FRHR Traer
5 IR 9 2+5+4=11

What are economies of scale? Explain
briefly about various factors leading to
economies of scale and diseconomies of
scale with examples.

oY1 /Or

[ TR S a1 ZeEm IR Rfew
R e e PR T aRePR
ST I F90 1+5+5=11
Define cost function. Explain various

short-run cost concepts and show their
interrelationship with suitable diagram.
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(8)

7. (@) RRW ARTF BeormRierer ©eBR MBI
W SRCGRT | 11

Give a critical analysis of the marginal
productivity theory of distribution.

%<1 /Or

(b) ¥ VR WF QAN RS 791 Rfey e
TIF S-S ComEeRE T W11 mR
& A @ T PRE wwEe By ,
POTR T I A0 8+3=11
Describe about the economic and
non-economic factors on which changes
in the demand for and supply of labour
depends. Why does the individual
supply curve of labour become

backward bending after a certain point?
Explain. |

% % %

p23—6000/243 1 SEM TDC GEEC (CBCS) GE 1



